N
*

L | : . " y £
/ .\\" $

= - N\

Sl =
| : :
\/ /"-,..‘

x

A\

'A\
\\

S
\\,._ ‘/‘
¥ e o e .
1
2500
g /- I
210
"84
1050 00
a — b = ¢ 10) ¥ =
= A" sinB~sinC p 2% Gn 9=
2 +x¢c”




—~A~5inB-sinC n,&?

3% 10 =30

4%
5%

10=40
0=50

of

0="70

3 *100 =300

4%
5%

2
& ‘

00 =400 ]l
100 =500

e s |

100 =700 7

P -90°
y =Co

2x2=4
3x3=9
4x4=16
5x5=25
6x6 =36
7x7 =49
8x8 754
9" 31




V4

Ai Tema ypoKa: «YMHOXEHME Ha YnNCIo
== 100»

2 r

...... Llenu:
- BcnomMHUMS...
- Y3Hameb....
i = Haydyumbcs npumMeHsams. ..

y=1/X

{,:sin 90 :
x=25y + 45 ]
) ] b _ C E%s) e=1 [ ’
~A~SnBTsSnC 3% n 90> y=1 (xty ) ]
= [ W= e s
C 5‘ r\‘vvlr"\vy'y“" dili], 3
| X=70 ‘

OCoOoONOOTULTHSA, WN
X X X X X X X




Y4eOHHuK cTp. 65
* Ctp. 65 Ne 177
* Ctp. 65 Ne 180
E * Ctp. 66 Ne 181
"« PaBouas Terpaab cTp. 42 Ne 96
" o Vyefuuk crp. 66 Ne 183

7 ¢ =
X =
X7 =4
% 8 =4
{y:sin 90 [ 2
x=25y + 45 [ =
a _ b _¢ 40 i | 3
S A SN B Sin C D’ ;a{ in 90 T y=1 /’l“/*y)(x ‘:\ :_
ac SE x= 25 + 45 ¥l= o ¢ ¢
o x= 70 U




: A) / oM = m 5) 9 |_|| 2 ﬂ ;B/\

 73aM=7300 10, -1000
| 100 4Mm = el
10000 100 U = 10000 |
2 105 1 = 10500 Z;J;

707 1 = 70700

,,,,,,,,,,

L e
W«J_.‘% vvvvv



OMAIIHEC 3A1AHHUC, i

(2]

2500
N4
310
e
105000

R /\ ---- {Fsin 90
i x=25y + 45
—] . a __b c & > y
; A~ sinB-sinC Ls% n 907 =1 (""9)(
: 2 xc x= 25 + 45 M= e
: - ¢

x=70



